
Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: 1806B

Seite 1/4

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 09:57:56 AM / 



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: 1806B

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis

1
666226-0

POWER SUPPLY CORD 1.5-2-5.0
1 N/A

1.2
665883-1

POWER SUPPLY CORD  1.0-2-5.0
1 N/A

2
645105-5

ODRUSOVACI KONDENZATOR
1 N/A

3
682502-4

CHRANIC SNURY 8-85
1 N/A

3.2
682540-6

CHRANIC SNURY 9,3-90
1 N/A

4
911158-9

SKRUTKA M4x30
2 N/A

5
911300-2

PAN HEAD SCREW  M5x75
2 N/A

6
911213-7

SKRUTKA M5x12
4 N/A

7
181151-9

KRYT VYPÍNAČA (P+L)  1806B
1 N/A

7 *** INC. 62
N/A

8
911253-5

SKRUTKA M5x30  911253-5
2 N/A

9
156414-2

KRYT MOTORA 1805B/1806B
1 N/A

9.2
156414-2

KRYT MOTORA 1805B/1806B
1 N/A

10
911133-5

SKRUTKA M4x18
2 N/A

11
687001-1

DRZIAK KABLA
1 N/A

11.2
687031-2

DRŽIAK KÁBLA
1 N/A

12
911103-4

PAN HEAD SCREW M4X6
2 N/A

13
651028-7

SWITCH HPAH2-3S
1 N/A

13.2
651045-7

VYPÍNAČ  1806B   Nový  AB 08.9
1 N/A

14
911228-4

SKRUTKA  5x18  911228-4
3 N/A

15
281007-7

DRŽIAK
1 N/A

16
911324-8

SKRUTKA M6x16
1 N/A

17
854895-1

ŠTÍTOK  1806B
1 N/A

18
953106-2

NIT  0-5  953106-2
4 N/A

19
271249-1

SKRUTKA 1805B/1806B
1 N/A

20
253004-3

FLAT WASHER 13
1 N/A

21
911158-9

SKRUTKA M4x30
2 N/A

22
316966-7

CHIP COVER
1 N/A

23
911206-4

SKRUTKA M5x10
2 N/A

24
285011-8

BEARING COVER 38
1 N/A

24.2
285004-5

BEARING COVER 38
1 N/A

25
911206-4

SKRUTKA M5x10
2 N/A

26
157163-4

KRYT DRŽIAKA NOŽA 1806B
1 N/A

27
423094-2

Tesnenie gumové 1806B
1 N/A

28
231233-8

COMPRESSION SPRING 24
1 N/A

29
315575-9

DOSKA PREDNÁ 1806B
1 N/A

30
265322-7

HEX. SOCKET HEAD BOLT M6x18
10 N/A

30.2
265484-1

SKRUTKA IMBUSOVÁ M6x18  neu  1806B
10 N/A

31
342604-5

DRUM PLATE (2PCS/SET)
1 N/A

31.2
344466-7

UPINACIA PLATNICKA NOZOV 1806B
1 N/A

Seite 2/4

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 09:57:56 AM / 



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: 1806B

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis

31.3
187675-3

MESSERKLEMMPLATTE 2STK! 1806B
1 N/A

32
341376-9

PODLOŽKA 10  1805B/1806B
1 N/A

34
211067-5

BALL BEARING 6200ZZ
1 N/A

35
911256-9

SKRUTKA M 5X35 
2 N/A

36
643650-4

VIECKO DRZIAKA UHLIKOV 6,5x18
2 N/A

37
181044-0

UHLÍKY CB-153 (CB-152)  1200
1 N/A

38
251212-0

SKRUTKA M5x13
4 N/A

39
161092-5

DRUM
1 N/A

39.2
161132-9

OSKA NOŽA 1806B
1 N/A

40
341377-7

PODLOŽKA 12  1805B/1806B/1911B
1 N/A

41
211107-9

LOŽISKO GULIČKOVÉ 6201ZZ 9524NB
1 N/A

42
523025-2

STATOR 220 V 1805B/1806B  
1 N/A

44
211063-3

BALL BEARING 6000LB
1 N/A

44.2
211061-7

LOŽISKO GULIČKOVÉ 6000LLB
1 N/A

45
681624-7

INSULATION WASHER
1 N/A

45.2
681635-2

IZOL. PODLOZKA 1805B/06B/4110C
1 N/A

46
513388-4

KOTVA UPLNA 220 V 1805B    
1 N/A

46 *** INC. 44,45,47,52,53
N/A

46.2
513388-4

KOTVA UPLNA 220 V 1805B    
1 N/A

46.2 *** INC. 44,45,47,52,53
N/A

47
241013-4

FAN 80
1 N/A

48
222007-8

REMENICA 1001,1805/5
1 N/A

49
911263-2

SKRUTKA M5x40
5 N/A

50
152214-8

KRYT MOTORA 1805B 
1 N/A

50 *** INC. 55
N/A

51
341384-0

WASHER 26
1 N/A

52
211106-1

LOŽISKO GULIČKOVÉ 6201LLB
1 N/A

53
213102-5

SIMMEROV KRÚŽOK 12
1 N/A

54
263005-3

KOLÍK GUMA 6  2414
1 N/A

55
263005-3

KOLÍK GUMA 6  2414
1 N/A

56
157024-8

KRYT LOŽISKA 1805B
1 N/A

56 *** INC. 54
N/A

57
911121-2

SKRUTKA  M4X14  
4 N/A

58
222006-0

REMENICA 1805/5B/
1 N/A

59
225042-5

REMEŇ 6-304 1805B/1806B
1 N/A

60
343301-6

KRYT REMEŇA  1805B
1 N/A

61
911206-4

SKRUTKA M5x10
1 N/A

62
181151-9

KRYT VYPÍNAČA (P+L)  1806B
1 N/A

62 *** INC. 7
N/A

63
421417-8

RUBBER RING 26
1 N/A

Seite 3/4

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 09:57:56 AM / 



Makita Werkzeug Ges.m.b.H.

Airportstr. 4, 2401 Fischamend

Tel:  02232 / 777 00

Fax:  02232 / 777 00 - 40

Mail: verkauf@makita.at

Web:  www.makita.at

Makita Service Information / Model: 1806B

POS Bestell-Nr. Artikelbeschreibung Stk. Stk.Preis

63.2
421490-8

GUMENNY KRUZOK 26  1805B/06B/4110C
1 N/A

400
762001-3

TRIANGULAR RULE
1 N/A

401
934201-7

WING NUT M5
2 N/A

402
123053-3

GUIDE RULE ASS'Y
1 N/A

402 *** INC. 401,403
N/A

403
923211-9

CAP SQUARE NECK BOLT M5X12
2 N/A

404
793186-4

PLANER BLADE 170
1 N/A

405
783202-0

HEX. WRENCH 4
1 N/A

408
123006-2

SHARPENING HOLDER ASS'Y
1 N/A

409
821134-4

WOODEN CARRYING CASE
1 N/A

900
414499-7

ADAPTÉR ODSÁVACÍ NA 1806B
1 N/A

Powered by TCPDF (www.tcpdf.org)

Seite 4/4

(c) 2019 by Makita Austria. All Rights Reserved. Änderungen und Irrtümer vorbehalten / MSIO V2.0 / Tuesday 25th of June 2019 09:57:56 AM / 

http://www.tcpdf.org

